Algebra 1 9.4

Complete the square to write perfect square trinomials
Solve equations by completing the square

trinomial

perfect square trinomial

quadratic term

linear term X*+(x+.7 9

constant term 2
(x+3)



Complete the square. Write in factored form.

16. x> —22x + {2 )

(¥~ 11)"

25

17. x* ~ 15+

18. x% + 24x +E'fq

(x +13)



How do you solve?

x=%5
V2 =87
Y9 ,(.;_2;=& X = ¢
V(x-2)2=V16 X-2T -y X2=2
X-2:2 %4 Y2 3
2.
R R
Xtgsly =6 =

x"-s.z_7 K‘-'I



Practice

2. Solve x? — 12x + }l’= §§)y completing the square.

/. Clear the construction zone.

X£|1Y+ 3¢ = S ""?6 2 .What else do | need to

build a perfect square?
L 4 3 .What has to happen

\l k\(- 15) T ‘ "y (to both sides)?
Y Write in factored form.
S. Solve.

- + .
X-¢ =. - 6.Y
+ g 4 (9
X=btey 6-Gy < 0¢

"".Y < IJJ"/



Example 2
Solve x? — 6x + 12 = 19 by completing the square.

-2 =~
What do | need to build a
Yiby+9 =74+95

perfect square?

o What has to happen (to
J k\(,-_'s ) "-':-\,l ¢ both sides)?

Write in factored form



X+2= 3
Solve each equafio¥f by 7 chm pleting the square. Round to the nearest tenth
if necessary.

5. x2+4x =6 6. x2 —8x=-9
x LN. G+
Y2+¢v ¥4 = (+d (’C N
What do | need to build a
(X tQ ) _v !0 ¥ <y = ¥ \[7perfect square?
+y +¢ What has to happen (to

: both sides)?
‘Y"'l = t ? a y - (/ Write in factored form
-Q -

?‘ Xs(.;L

X=-q3i2



@ > +6x—16=0

20. x2—-2x—14=0
+L + 6 i1y Wy

_yal
WLy +d <16 1§ N -2n 4 =1Y

What do | need to build a
A
‘ (\(.‘_ 3) ( S ( ...|) -'“l ; perfect square?

What has to happen (to
X=-l=< 5'1 both sides)?
Xt3= XS b & | 1 %] erte in factored form
s 4 X z-8 xS
X=-3%5 x* 4.9

X0



*k*k

21. x2 —-8x—-1=8 @x2+3x+21=22

=M -a)







